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Note : Attempt all questions. =
(i) W wHiw 8 ¥ 17 9% & Weil # ol faweq fag o &1 _ — é
Internal options are given in Question Nos. 8 to 17. 5] =
Ly}
Fder  : (3) TA HEH 1 TS WA ¥ T 9 avs ¥ Eve () § =
Tgfascda w94, @vs (9) A fam vl 1 9fd 3t v o §
T (W) ¥ St R 9 9 ¥ velw wue W 5 W ¥ e
. T UAF W9 W 1 3% Aeifed €| . =
=
Instruction : (A) Question No. 1 is an objective type question. It has three A 2
Sections. In Section (A) Multiple choice questions, in - g
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Sc.ctfon (B) Fill in the blanks amd in Section (C) Match the
following are given. Each section has 5 questions. Fach
question carries 1 mark.

-1 (@Ue-31) WEl fawey gt fafa : [1-5=%]
(Section-A) Choose and write the correct option : °
() < srFE s uftads, s durma g ¥, weemm ®
(37) Wrpfas =@qq
(B FafEdd
£#) "geral
(?) % dad= .

Z00 e
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2]

S . . . AT H H
udden change in gene, which is hereditary, is called
(@)  Natural selection

(6) Mutation
(¢) Linkage

() Tissue culture

(i) STERTRY F SEw I A .
(30 dewT = (7) wifaH
(FHAvza H (%) e

IFather of Genetics is :

.

(@) Batson (b) Morgan

(c) Mendel (d) Hutchinson
(i) AR FRF L

(37) fefrsiey (&) sEren

(%) feSu \(Z T

Order of honey-bee insect is :

(a) Dictyoptera (b) Orthroptera
(¢) Diptera () Hymenoptera
(iv) Jtﬁ;;ywt :
CH, (7) C,Hq
(7)) C,H, { (%) C;3Hy
The Molecular formula of methane is :
(@) CH, (6) C,Hg
(¢) C,H, (@) C;Hg

(v) aIXfmFaFAUR

() Qe W

(%) Fred (7) wead
Family of pea is :
(a) Solanaceae (b) Leguminoceae

(¢) Cruciferae (d) Malvaceae

WO dUI[UOPIL0q3> mmm//:dny



WOod UI[UOPIROGSI Mmmm//:dny

13
wyt-1 (ov-w ) P wrl an i it [1x5=5]
(Section-18) Fill in the blanks ;

() A v e
Respiration is of  1ypes.
(i) T favrar W o gt fu s R
 plant hormone enhances cell division.
i) ¥ amefas am . ¥

The botanical name of brinjal is

(iv) ALCy 1+ 12,0 5 e ) + 4A10N),

(v) W T A G AR A g0 A SO0wE 3vd &l

Silkworm insect gives to_____eggs at onc time.
a1 (WUS-| ) WE Y T http://www.cgboardonline.com [1x5=5]
(W) (W)
() faefiy (37) R
(if) TP (@
(iii) gfe (%) feq yom FT -~
(iv) weEnd (7) sfgw i fre e -
(v) Eer (9) e st frer sifm
(Section-C) Match the following :
(A) (B)
() Vitamin C (@) Nitrogen
(i) Glucose (b)) Lemon
(i) Urea (c) Produces energy
(iv) Cabbage (d) Brassica oleracea var. capitata

(v) Caulifiower (e) Brassica oleracea var. botrytis
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- fdor D (R) Y FAE 2 A 7 A afreEeig wea € v ¥EA W
2 3% mtl (3 =1 sfywag we-fhr _-_;:‘-‘:'i’:?)
{B) Question Nos. 2to 7 are very short answer fype Guestions

Each question carries 2 marks. (Maximum word limit of
answer 1s 30 words)

9e-2 q9% ¥ wfivrn fafam) (23

Define indicator,

Instruction :

-3 FE SR A uw e s wewm [1-1=2
Explain Kaolbe reaction with an example.
UA-4 % w2 d@8 § wmmy -1

What 15 Back Cross? Explain in brief,

-5 ffafen siwE w1 warm ang 3 Fifag (2]
48,52, 50, 55,60

Calculate the arithmetic mean of the following data :
4%, 52, 50, 55, 60
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-
UFi-6 farima A Fnad ¢ 2 _ (2]
VWhat 1s Emasculation?
weR-7 = F2 § dEE am fafa (2
Wnite scientific name of Lac Insect.
firder :{R) TA FAF 8 N 12 0% APEETd vl £ vEE wwm T
4 #% srdfza £ (7 B A w=-Hdmn cs e §)
Instruction : (C) Question Nos. B 1o 12 are short answer Iype questions
Fach question carries 4 marks (Maximum word Emit of
answer 1s 75 words)
WH-8  ApAE au il aviE (Shagn) | ¥ Aaw s fata [H-delelmd]

Write any four differences between Real and Virtual Spectrum

e
OR
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wi-10

(51
iafw 26 $o o A T Yo A g A si faftan
Write any four differences between Internal Combustion En
External Combustion Engine.
T GEETE BE 1 R 1643 a1 et § | TEH TH Y B TR
Ta )

Area of an equilateral triangleis 16
of one side of equilateral triangle.
37T

OR

@aﬂm@ammazsooﬂtﬁaﬁiwﬁﬂaﬂmmaﬁml
Area of a square ficld is 62500 sq. meters. Calculate the length of the field.

gine and

: (4)
J3 sq. meters. Calculate the length

Fr TR A =gl ¥ 30 BT % TR ¥ Wi o T € | 3 Wil

w1 THR A A ST [4]
=t 0-10 | 10-20 | 20-30 | 30-40 | 40-50
s 2 10 8 4 6

Marks obtained by 30 students of 10th class in Mathematics subject
are given in following table. Calculate the arithmetic mean of
obtained marks :

Class 0-10 | 10-20 | 20-30 | 30-40 | 40-50
Frequency 2 10 8 4 6
HYgqr
OR
frm wRon @ AitgE Fa HIfY
T 0-20 | 20-40 | 40-60 | 60-80 | 80-100
amgfa 2 7 10 3 3
Calculate the median of following table :
Class 0-20 | 20-40 | 40-60 | 60-80 | 80-100
Frequency 2 7 10 3 3
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6]
=11 v & Aty frm % sEntn ' gergwn Prm’ w) deg F geeme [4]
Explain in brief *low of scgregation’ under Mendel's law of inheritance.
Nuar
OR
FY N R Yo ) wn i € (@ e 2 [144=4)
What are roles of plant breeding in Agriculture (any four)?

W-12 R F@ w1 anfdw wee fafa (3 ) | - [1+1+1+1=4]

Write econontic importances of Malvaccae family (any four).

-

rerar
OR "
A F w1 il wee fafan (3 @)

Write economic importances of Solanaceac family (any four).

fder : (T) W wEE 13 Ud 14 spEany g € e 3 W
5 3iF mifea €1 (I F fywan w=m-wW 150 9= §)

~wstruction : (D) Question Nos. 13 and 14 are short answer type questions.

Each question carrics 5 marks. (Maximum word limit of
answer is /50 words)

weR-13  wen-fanga A & vie Ivam fafaw [1x5=5]

Write five uses of photo-clectric cell.

erqr
OR

Iwg-nfaE) F vuw a9 #9899 § guERe | (5]
Explain in brief First Law of Thermodynamics.
wr-14  fm anolt & aera g | Ty faeem 3@ Sifag (5]

1 0-10 | 10-20 | 20-30 | 30-40 | 40-50
ol %) 9@ 2 4 7 4 3

Calculate the mean deviation from arithmetic mean of following table :

| Marks obtained 0-10 | 10-20 | 20-30 | 30-40 | 40-50
No. of students 2 4 7 4 3

‘ M47B

—
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*,

(71

37eraT
OR
firq QRO gR1 WA faaer §1d I
i 1 S (&) | 10-15 [ 15-20 | 20-25 | 25-30 | 50-35
dhif = 9& 28 52 45 17 10

Calculate the standard deviation from following table :

Plants’ height (cm) 10-15 | 15-20 | 20-25 { 25-30 | 30-35
No. of plants 28 52 45 17 10

o . (%) W wEE 15 ¥ 17 % ddSwg T T TEE ¥ W
6 3t e £1 (IW i Sfuwad TR-EW 250 IR T)

Instruction : (E) Question Nos. 15 to 17 are long answer type questions.
Each question carries 6 marks. (Maximum word limit of

answer is 250 words)

w-15 W & fram & e f vl § S [2+2+1+1=6]
() i
(i) Taga vftag =1 Jmifed fa
(iff) SAaHHT GO
(iv) Wt (K 30
Write the experimental verification of Ohm’s law on following heads:
() Definition
(i7) Labelled diagram of electric circuit

Luoo'eu![uopmoqﬂgmmm///:dnq

(i7{) Observation table
(iv) Precautions (any fwo)

Ferar
OR
fepyry A 1 i frg yidel § Sifag
() & (i) Frdfafy

(iti) @t (iv) 398 (FE D)
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WHA=17

i8]
Desenbe D C. Motor on toilowmg heads -
{{) Structure

{24} Funetion

(irry Ihagr:
) Dnagram fov Uses {am pwp)

TEwE & Wa w8 v oy

Explain life cycle of honcy-bee with diagram

sear
OR
mmﬁztﬁmwﬁmﬁmm

Explam life ¢y cle of lac insect with diagram.

Wh#ﬁ?mmﬁqnﬁﬁﬁm:

(y  ThEr dm ddw w aiten faw

(i} W%#MWWW(WW
(i} 709t i\ w@EE | @ (ot 2h

Descnibe the gobar gas plant on following heads :
(fy  Labelied diagram of gobar gas plan:
{if)  Precautions in uses of gobar pas (anv four)

(firy Advantages of gobar gas plant (any two)

Maay
OR

eafeehy war &y fafiy wy avd w0 w7

Describe-mabing of acctyene by laboraton nicthy !
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